You live in a group house with many residents who each have assigned chores. In order to make it easier for people to find substitutes for these chores without having to do a one-for-one switch, the house issued certificates and distributed two to each resident. Each certificate is worth one job. The hope was that residents would pay one another with these certificates, making it easier to switch jobs. But it isn't working out well. People are not using the certificates. You asked why, and are told that people want to save the certificates for when they might really need them. As the economist in the house, you recognize that these certificates are like money. And, you realize that you can use your understanding of money to help the situation. 

1. In what ways is the demand for certificates like the demand for money as described in the textbook?
2. How could you get residents to use the certificates more often? 

3. Why would greater use of the certificates be a good idea? How is this similar to the role of money? 

